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QUESTION 1

A company is not yet using DevOps practices. The team notices a problematic accumulation of technical debt. One of
the team members suggests implementing DevOps practices to solve this problem.

Which DevOps practices support reducing technical debt?

A. Constant refactoring and eliminating previous bottlenecks

B. Continuous delivery and promoting pair programming

C. Continuous feedback and implementing a deployment pipeline

Correct Answer: A

QUESTION 2

Which architecture is a cause of the problems with DevOps that a microservice architecture solves?
A. Intel x86 architecture

B. Mainframe architecture

C. Monolithic architecture

D. Serverless architecture

Correct Answer: C

Reference: https://dzone.com/articles/what-problems-do-microservices-solve-2

QUESTION 3

An IT architecture is characterized as monolithic and rigidly bound.

What difficulty with adopting DevOps practices can be expected?

A. Clearly defining the boundaries of the IT systems

B. Defining areas of responsibility for each DevOps team

C. Maintaining the increasingly complex architecture

Correct Answer: B

Reference: https://books.google.nl/books?id=0zSGDwWAAQBAJandpg=PT126andlpg=PT126anddq=exin+IT
+architecture+is+characterized+as+monolithic+and+rigidly+bound.+What+difficulty+with+adopting
+DevOps+practices+can+be
+expectedandsource=blandots=Kuo1rtSYcoandsig=ACfU3U28HSO7RkPdD2SDsEhauQXXrgTQZgandhl=enandsa=

Xandved=2ahUKEwjxycCW-7vIAhXSknAKHWs-AMkQ6AEWAHOECAKQAQ#v=onepageandq=exin%20IT%
20architecture%20is% 20characterized%20as%20monolithic%20and%20rigidly%20bound.%20What%
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20difficulty%20with%20adopting%20DevOps%20practices%20can%20be%20expectedandf=false

QUESTION 4

Why does Operations benefit most from improved configuration management?

A. It allows Development to take over Operations tasks if they have too much work
B. It allows Operations to automate configuration management using scripts

C. It allows Operations to be involved in earlier stages of the development

D. It allows Operations to respond to incidents more quickly than without

Correct Answer: D

QUESTION 5

What is a benefit of the way the Definition of Done is defined in DevOps?
A. The team focuses less on the "what" and more on "when"

B. The team focuses less on the "what and more" on "where"

C. The team focuses less on the "what" and more on "who"

D. The team focuses less on the "what" and more on "why"

Correct Answer: A
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